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(1) Question no. 1 is compulsory.

(2) Attempt any 3 from the remaining questions.
(3) Assume suitable data if necessary.

(4) Figures to right indicate full marks.

(a)

iii.

vi. -

Vi,

(3 Hours) ; [ Max. Marks 80]

Select the correct option from multlple chowe questlons SRR T 10
Which bitwise operator is used to multlpiy the numberby 2“ where n.is number

of bits. 5 S

A] Bitwise-OR B] Bitwise-AND C] Blthse Left shlft D] BltWISE nght Shift

Which operator has the lowest priority ? NS
Al ++ B] %: <G + £ SODF S

Which of these is.a vahd variable dectaratton'e‘ L
Al int emp salary, B] float marks_ student; C] float rol-no; D] mt main;

What will be the output of the following program?
void main ()~
doubie x—28
KRR
= x%5;
printf (“\n r=%d", r); }
A] r= 3 B} Run time Error C]JCompile time Error D]None of the Above

What will-be the output of the followmg program?

void main{) { - .

int x []={10, 20,30 40 50},

print f(“\n %d %d- %d %d “, X [4] 3(x] ,x[2] ,1[x] ,x[0] ); }
AJError B]10 20 304050 C]50 40302010 D]None of these

-

Which of the following is not a keyword of ‘C' ?
Alauto . - B]register Clint D]function

What will be the output ?

void main () {

inty;

y=0x10+ 010+10;

printf (“\ny=%x", y); }

Aly=34 Blx=34 Cly=22 D]Error
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Q1

ek

viii.

ix.

Vi,
Vii,

viii, “An’
e
A .. x'. - ;

SO Differgn't_ia_te_bet_We_e__r,_l'"stru_ct.:-an'd union. When is union preferred over stryct?

o Give one example of each, -
WAPto print the sum of the-following series: 5

Study the following C program

void main () {

int a=Q;

for( ;a;);

a++; } S S . it \ V.
what will be the value of the variable 3, on.the execution of th e*‘a,tjp\ié-:ﬁfag‘r'_a'"rﬁ"\;\_;_- '
Al 1 BIO Cl-1  Djnone of theSe” <& & O 5 & iy JeoS

e’ o

Which of the following is used asa s_t_rji'ng'-t'er\ | néti;i_;; character? S f

A0 BI\O /0 '?-J:--'f'fi.'?'?ef@fﬁ?ﬁ%ﬁé\:r-" DK

b

What will be the output ofthgifd!i‘cawm‘g‘;p?ag"tégi""
void main () { Ay :

char a[]= “Hello World”; &
char *p ; &
printf(“\n%d %d %d 9%d" sizeof(a), 's]ié'n;f(p)‘,itr!.eij'(a);,_g-'s‘?cdén"(pj"_};‘_ S's
Al11111010 B] 10101010 ) 1212 1111D]122 1110+~

7

State True orFalse with reason O S S
Size of pointervariable Isequal o the datatype ftipoints to,
A float constant cannot be used @s.a case constant ina switch statement,

10

The st?te‘menﬁ;\_{gid-.l':'!';__-_i-_si__-v"a-'_li_d_. Sl
while:(0); s anmﬁmte loop.- SV v &5

g
—~+
o
N
b |
(53]
7]
@
[¢+]
o
o
o
e~
o
L
=
[
g
€
m
s
=
=49
o
m
wy
o]
=
o
<4}
w
ad
oq
3
3
c
M
wv
—+
o
—
w
(1]
3
o
1]
@
)
L9 BN E, |

T8930 e & .

- Compare the following;: 5
“i)break and contin

] m_é_ Sfatements

"USG i_)-ifu:é_ls'e-aih.d_'_sviitc_h statements

\'f_i.?rifc_e a 'prc_gr“am to calculate number of vowels (a, e, i, 0, u) separately in the ¢

_-entered string,

i -"Predict output of following Program segment. 4
. [Nb_te:_ Show pictorial representation]
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Q4 a.

Qb T3

related functions and its use]

Q. P. Code: 40231 DS

(i)main()
{
inta,b,*p1,*p2,x,y;
a=48;b=10;p1=&a;p2=&b;
X=*p1**p2-8; :
*pl=*pl+*p2; S
y=(*p1/*p2)+20; SIS O & QL7
printf(*%d %d %d %d %d %d”, *p3*p2abxyl « © 3
(i)
main()
{ FOEP
int x=4,y=9,z; Y A RS
ZExHt ey dy; SR
printf(“\n %d %d %d”,xy,z); -
2= =X FRE Yoy, ST ESFCI S
printf(“\n %d %d %d” x,y,2); - - g

An e!ectron.ié"cdmlp'qhé,nf.vénﬂp‘jr:_‘ supphga\ihrieepredutts If;nsistors, resistors
and capatitors;” The vendor gives a diﬁsé‘r}l‘l[ﬂt‘:oi‘" 10% on order for transistors if
the order is more than Rs. 1000: On order of more than Rs. 100 for resistors, a
discount of 5% is given and discount of 10% is given on orders for capacitors of
value more than Rs.SEi_O___. Assume numeric code 1, 2 and 3 used for transistors,

~capacitors -'a_n:d.\ii'_gSi_s’egr.'v_._;r'_ehs‘_p__e"t’_:\t-i'\‘fgiy-..f‘“\_{y'ﬁi\tfé\.\a_'_ program that reads the product
-~ -code and the order-amount; _a'ﬁQr:prifrg_té_.d'u;i:h‘é net amount that the customer is
- _Tequired to pay after discount. (Note: Use switch-case)

‘What is recursion? WAP- using retu-'rs_ion to find sum of array elements of size n.

‘Write a Cprogram to- =«

P F R E G oy Create.a 2D array (Matrix) [in main function]
ESEGEE A, T a funttion to read 2D array(Matrix)
' fii.~ - Write a function that will return true(1) if entered matrix is
_ symmetric or false(0) is not symmetric.
iV Print whether entered matrix is symmetric or not [ in main
- function]

(source)to-another string str2 (destination) without using library function.

10

10
10

3 l'rhp'Ifemg'n_ts" string copy function STRCOPY (str1, str2) that copies a string strl 05

Explain File handling in ¢ in detail. [Note: Mention file types, file modes, file 08

Page 3 of 4

A6F5D93F0C8CFDF3A3CBIDC44060923A



g _.1\." u\wu__f
7 Vo Lo b
A \._Q_ Y, \h. A ,“.. P~

C.

Tt -

&

o
L8

o
LA

O st
B Cn’ oy O,

.
.

WAP to print following pattern for n lines. [Note: ra

Page 4 of 4

a.
b.
G

Q.6

A6F5D93FOCSCFDF3A3CB9DC44060923A



FE- COwik Renw — Sanm O -

. . audt
|o._/ ts_/)eg‘\pﬁer}uyﬂ ‘D’{ QF: mE : 21664

(3 Hours) [Total Marks:60
i) Solveany FOUR questions.
i) All dimensions are in mm.
iii)  Use first angle method of projection.
iv) Assume suitable dimension if it is necessary.

v) Retain all construction lines.
Q.1 Following figure shows the pictorial view of an object, draw
i) Sectional front view along section P-Q [5]
ii) Top view. 4]
iii)  Right Hand Side view [4]
c44

2 . 2HOLES, 820
> / ' gl S TS

iv ) Insert 10 major dimensions

(2]

-

A pentagonal pyramid side of base 35mm and height 70mm is having one of its base edge in
Q.2 HP with triangular surface containing this edge perpendicular to HP, parallel to VP and [15]
away from observer. Draw its projections.

[TURN OVER
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QP CODE : 21664

Q.3 (a) Front view and side view of an object is shown in figure, draw an Isometric View. [8]

4.1

Th

-
™~

85

20
i
g
Lgs
o _"“'___\

n

100

FRONT VIEW L.HS.V.

(b) Draw the elevation and plan of a cube of side 50mm resting on one of its corner of bgse [7]
on HP with solid diagonal perpendicular to the VP.
Q.4 (a) The pictorial view of a machine part is shown in following figure. Draw

i) Front view from X (4]
ii) Top view [4]
iii) Insert at least 6 Dimensions. ; 1]

(b) Draw 1.5 revolution of a cylindrical helix of pitch 60mm on a cylinder of 50mm [6]
diameter.

[TURN OVER

8463BEBBI1C5F90DFF79EFBBFAB5484BC



QP CODE : 21664

Q.5 A right circular cone having diameter of base 60mm, axis length 80mm resting on its
base on HP is cut by cutting plane perpendicular to VP and inclined to HP at 60°,
bisects the axis. Draw its FV, sectional TV and the true shape of section. Also draw the
development of lateral surface of the cone after removing the portion containing the [15]
apex.

Q6 (a) End A of line AB is in second quadrant and is 40mm and 15mm from HP and VP (8]
respectively. The line is inclined at 40° to both the reference planes. Draw its
projection when end B is in third quadrant and 45mm from HP. Find true length and
distance of end B from VP.

(b) Front view and sideview of an object are shown in figure, draw an isometric view. 7
.l o |
) T
]
4
10
8 25
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| Q. P. Code : 50062
\>¢/%

(3 Hours)
[Total Marks: 60]

N. B. - 1. Question No. 1 is compulsory.

2. Attempt any three questions out of remaining five questions.

3. Use first angle method of projection, unless mentioned otherwise.

4. Write all answers on drawing sheets only & use both the sides of the sheets.
5. Use your own judgment for any unspecified dimension.

6. Retain construction lines.

Q1

7. All dimensions are in mmin.

@)

(b)

One end of an inelastic string, 130 mm long is attached to the circumference of (06)
a circular disc of 50 mm diameter. The free end of the string is wound around

the disc, keeping always tight. Draw the locus of the free end and name the
curve.

For the object shown in figure draw the following views -
(i) Front view in the direction of arrow. (05)

(ii) Top view. (04)

TURN OVER
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Q. P. Code : 50062

Q.2 For the object shown in figure draw the following views -
(i) Sectional front view from X direction section along A-A. (04)
(ii) Side view from left (04)
(iii) Top view (05)
(02)

(iv) Insert the major dimensions

Q.3 A hexagonal pyramid of 30 mm side of base and slant edges 65 mm long is (15)
lying on one of its triangular surface in the VP, 50 that its axis is inclined at an
angle of 45° to the HP, Draw its projection if apex is nearer to the observer.

e

f base and 70 mm length of an axis has resting (06)

Q.4 (a) A cylinder of 50 mm diameter o
in VP. Draw its projections if axis is inclined

on one point of the circumference
at 300 to VP and parallel to HP.

TURN OVER
2

8463858}31C5F90DFF79EFBBFABS 8D2E8




Q. P. Code : 50062

Q.4 (b) Figure shows three views of an object. Draw its isometric view with ‘O’ as  (09)

Q.6

(@)

(b)

origin,

PARTIAL T v

30mm above HP 40mm in front of VP. The line (09)

Figure shows two views of an object. Draw its isometric view with ‘O’ as (06)

50 15 , 2§___ 20_
i |
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2’\/0 S’/Zo ) g [Time: 2 Hours]

Q. P Code' 24185

N.B. 1) Question no. 1 is compulsory
2) Solve any 3 questions from question no. 2 to 6.
3) Assume suitable data wherever required.

4) Figures to right indicate full marks.

Q.1. Solve any five from the following.

grating?
c) With neat ray diagram explain the cqn'eept of tofc‘a:!rihtrernayl;r/e;ﬁegtr\ 0
d) Differentiate between spontaneous and sti’mulated‘emi.sé,iorz. :

e) Find cylindrical coordinates of a pomt (3r+4}+k)

f) In Newton’s rings pattern what will be the order of the dark ring wmch«wrll have double the
diameter of the 40" dark rrnv o SIS o : :

g) Draw the block dlagram of cathode ray’tube CRT) andbrleﬂ Vctrons of its parts.

Q2 R

a) Derive the concﬁtrons for maxima and minima due to |nterference of light reflected from thin film
of uniform hlckness (8Mm)

ula for numerrcal aperture of step mdex frbre and give its physical significance. The
Ifrbre is 0 5 and core refractlve mdex is 1 54.Find the refractive index of cladding.
: ; (7m)

b) Derive the fo
N.A.vofwah OP:d

Q8 -

Q) Dlscuss the Fraunhofer drffractlon at smgle slit and obtarn the condition for minima. In plane
transmission grating the angle of diffraction for second order principal maxima for wavelength
\‘leo cm is 35° Calculate number of Imes /cm on diffraction grating. (8Mm)

h ography and holography? Explain holography technique to

(7m)
: )_,Fmd the dlvergence of vector field F= x? yzl + xzJ (5M)
_W\b) Explam how-A.C.voltage-and its frequency is measured using CRO. (5Mm)
’ o)A Wedge‘sh‘aped air film having an angle of 40 seconds is illuminated by monochromatic
: Y observed vertically through a microscope. The distance measured
A e_brlght fringes is 0.12 cm. Calculate wavelength of light used. (5M)

IE L Page 1 of 2
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rings are

rk

S experime

sring

7

Explain Newton

Q.5
a)

nt and show that diameters of nt"da

atural numbers.

ional to square root of n

proport
b) Write Maxwell’s equat

nce.
scope

Ica

hysical signif

and give its p

ons

ICro

ion and working of atomic force m

c) Explain construct

Q.6

s

ts a|

e

YAG laser.

in different types of carbon nanotubesand g

in construction and working of Nd

a) Expla
b) Expla

ing.

ic focuss

c) Write a note on electrostat
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Q.1 Attempt any five of the following

Q.2

Fc cem o clorce Bopl el
}\\\ @{w\cﬁ«d

Aﬂ??\ ¥ yp Cnenntsy

[Time: 02 Hours]

Please check whether you have got the right g;

N.B: 1) Questions no.1is compulsory. ,»ﬂ\? &
2) Attempt any three questions from rema n

3) Figures to the right indicate full marks

4) Atomic alt:-Al=27, Ca=40, S= 32, Cl'“35‘“5\‘ _' :

Na=23, Mg=24. :

(a) Define power alcohol. Give any two ad\ ggv
(b) Explain why cathodic coating is pref\ r‘i“g

containers to store food stuffs. Q:i ~

(c) A sample of coal has the follow

‘ -f!' a;r\,, ;
(f) Whatis the ma ‘xphas faﬁd a
concrete. :

(g) Porous ﬁlm.;

13

\ ,.~<- r\""f

/pr,otect v%\

formtrogén estimation by K)eldahls s method.
qu1red9 Sml of 0.

\ S'gm’of acoal .,sample /as faké
The ammoma llberated re

dr\dggn Oxygen fuel cell with a neat labelled diagram. 06

Allo Gwe its properties and uses. (Any two) 03

i€ ‘\ 1 \; g’uléf:ts'advantages 02
toi’h eco‘ omy of the following reaction w.r.t. the product

\ < 04

' Acétophenone

TURN OVER
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Q.P.
Q4 (a) What is cathodic

protection? Explain impressed current
applications,
(b)

i) What js Green chemistry? Give jts significance,
ii) Defi

any two applicationg of conl; ¥
(c) What s pPowder metallurgy? Explain hot Compaction-mgt
lagram S&
s DEE
DT el \b .
Q.5 (a) A gaseous fuel co

Liny O § o
ntains Hz = 5096, CH, = 300, No=29 00’y
and watervapoyr=3 %, Calculate weight andgﬁlﬁgﬁ@ﬁﬁ@l
[Given: Mol. wt. of an air =28.949kg] &, \‘16 ,,(‘)“i;“i/:\m/\\
(b)) List the three Main constituents of paigx‘%%‘éﬁd"g&@ IR¢tion
ii) Explain the effect of the following a}y@m\q@@ 3 éﬁt?\(ﬁ Ste
a) Chromium b)Tungsten &%+ SESE
(¢) Explain conventiona]

LA A5 R oY ) )
and Green cheﬁﬁqﬁtﬁ@*m@ﬁg? i
the green chemistry p S

~
N

S

1 SIS

(a) Write short notes on:-
a)Com

2751 D78227C359606D4F367387C594B5
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[Time: 2 Hours]

Please check whether you have got the right quesﬁ@n @apé
Question No.1 is Compulsory. x §
Attempt any three questions from remainjr
Figures to the right indicate Full marks A\:
All questions carry equal marks.
Atomic weights: - H=1, C=12, N—l{,

Ca=40. Mg=24, Na=23. P,

N.B:

e D

1. Answer any five from the following:-- ek iq,‘;?,

a) Galvanization of iron articles is Qﬁe‘fe’?ﬂ;ﬁﬁqh ]
b) What are Fuels? Give characte sticg%ﬁégb NS
¢) Give Composition, Propenl@%&ﬁ od ;
d) What are composite materla‘TsQQ@ C_Eé@hﬁlx&f&ﬁ%‘e&'
¢) Explain the principal of green-chemi %eventmﬁ\&f N
f) Mention three 1mportant©on‘stgtuelits @tﬁfg‘\wrttgtilﬁmﬁmcﬁﬁn 00’ i~
g) 1.85 g ofthe same cgabsahi mm quﬁ\!z-\ga Qﬁmqtértx;peﬁmen ‘
BaSO;. Calculat&yercer?(&gg‘be«m eoé?iL%gﬁ'x

06

05
04

06
05

04

Turn Over
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a) Write informative note on Biodiesel.

b) What is pow

3.

.

D

?

der metallurgy

ISCuSs any two met

powders.
¢) Write a note on dispersed phase of composite

ings?

a) What are the methods of metal coat

6.
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